


Math Readiness Exam Ans W ——

g

10.

11

12.

13.

14

15.

16.

L.

18.

:,,.‘lﬂi. _ ; - =
CHOICE D: A CONLETaNOn £ . 0Nl

2
X i
Tiles 7Y the first term by~ to oef
= ﬂlﬁ Al tem vt aed
Xy x Xv+x

- - - 1

CHOICE C:  This 1s the differep="%

x* =100 = (x - 10) (x + 10)

CHOICE A- (M5 + 0 = (v - 2 = Tr + 3 — v + il

Cyﬁ'rf*ﬁ—\ ~ i‘__ ad 1-\? f.‘ﬂ'TJf !II}: : . ) . .
(17 E 5 (15 5 | =
1
- (x) = 8
3

Multiply both SERRES WL s MRS e v =14

CHCESR 5L . 25 m = 25 @) (A feety 157 a0

CHOICEG: (F-3x+ T,
A 3 A
=-2x"+2x+3

2x 9y 2 —

CHEIT £ R A
3y 4x° 3y 4x"  Ix







Math Readiness Exam Answers 4

29.

30.

21

32.

33.

34,

CHUTE:

CHOICE A:

T W .20 v i e

CHOILE B!

CHOICE A:

CHOICE D:

The graphs ofx -2y = 6and x +; -3 wacidooad w0 mmm—
fuy Llldl. Sdllsly UULJ.l lL‘L[U.d.LlUI_I.b 1O ECL LLESE, Fed Ny e LIc. 1w

equathIlEnm_'W- =

6 Spb<timtegntg the cocond ﬁq"anr = Vi1
(2 e ——

=3y+6 = -3

Subtra~t & Fom otk ~idae-
3y+6 = -3

-6 -6
3y =-9

Divide bl lsssden i withec oy invee

-] — b=

3 3

y=-%

::'(11{'?7\_11_'1?‘-} ?_'LJIHL-"-—' _— 1 _ 4 S 8
= ox B o
2 2

V=21 = =3 DECAUSE (-3 )(~3)(~3 ) miikinlicmmm _
ronts can he necative -

AS 11&\?{‘{'\%’!’]P ‘R’Jm] U\‘l! 4“‘1‘_013 ‘I}‘I'I(:l T\ﬂC|T|I A 1 harntmac I AT laras

DTSt T DA I T R - 1) CaSeS AT Ta S e T PET, Lk, g ap™™ ™
R

SEITJ‘LG lc: trma qc' = h?nnTiiﬂi ATIVETAT npi{rﬂtrn ".ilcn fnnu HE ﬂﬂiliﬂﬂﬂ
of the form ax % b# + ¢ 1<°a navuntns’ ”

Recall thatelamd pur = muresos -t o
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=6w+ 6 =90
-6 -6

ow =84

6 6

w = 14

56. CHOICEA: 4(s+2) = (4x9)+ (4%x2) = 4+8

57. CHOICEA: 3/4"1/7 = % i_2r4_ 17

7 28 28

58. CHOICE B: Subtract one from both sides:

Divide both sides by5, and remember to switch the sign of the
inequality because we are dividing by a negative number:

X>-2/5

59. CHOICE B: The function has an absolute minimunxat 1, the lowest point
on the graph between 0 and 4. The other low poixtad is a
"local minimum.O

60. CHOICEA: 3?+4°=D?=25s0D =5.

61. CHOICE B: (2\/5)(3\/6) = 6118 = 6,/(2)(9) =
692 = (6)(3)V2 = 1812

62. CHOICE B: 1DBsinf#t=cos# (atrigonometric identity.

63. CHOICE A: f(xX)=cos(X), then§ /6)=cos( /2)=0.
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CHOICE A:

CHOICE E:

CHOICE E:

CHOICE B:

CHOICE E:

CHOICE B:

CHOICE C:

CHOICE E:

The circumference of a circle 5" R.

The sine curve hasyaintercept at zero, increasesxaacreases to
$/2 and decreases maslecreases to$/2.

csat = 1/sit and tar# = sin#/cos#, so
sin# tan# cs¢ # = sin# (sin#/cos#) (1/sirf #) = 1/cos# = sec#.

tan# = sin#/cos#, and cos-($/2) is zero.A zero in the
denominator renders the expression undefined.

The area of a circle i§ R?

the sum of the angles in a triangle add up to 180 degrees.

Taking the slope betweer= 0 andx =5, we see that:
changeiny 20B5 15

change in x 50 5

"100km%_ ,100km%5 miles”®" 1 minute ?
#minute& ‘p#ninuteé 8 km gﬁﬁo seondsg

_ 500miles I mile
480semnds seoond




